RED SWASTIHA SCHOOL

RED SWASTIKA SCH

2023 PRELIMINARY ASSESSMENT -

MATHEMATICS
PAPER 1

Name : { )

Class : Primary 8/

Date :18 August 2023

BOOKLET A

15 Questions
20 Marks
Duration of Paper 1 {Booklets A & B): 1 hour

Note:

1. Do not open this Boeokiet until you are told to do so.

2. Read carefully the instructions given at the beginning
of each part of the Booklet.

3. Do not waste time. if a guestion is difficuit for you,
go on to the next one.

4. Check your answers thocroughly and make sure you
attempt every guestion.

5. in this booklel, you should have the following:

{a) Page 1 to Page 5
{b} Questions 1 to 15

8. You are not ailowed o use a calculator.







Queestions 1 to 10 camry 1 mark each. Questions 11 1o 15 carry 2 marks each.
For each question, four opiions are given. One of them is the correct answer.
Make your choice {1, 2, 3 or 4). Shade the correct oval {1, 2, 3 or 4) on the
Optical Answer Sheet. {20 marks)

1 70000 + 2000 + 300 +8 =

(1) 72380
(2 72308
(3) 72038
(4) 70238

2 Round 769 481 to the nearest thousand.

(1) 769000
(2) 769480
(3) 769500
(4) 770000
o .
3 Express O % asa decimal.
() 91
2y 9.2
(3) 9.02
4y 9.15
4 The diagram shows a cup of milo sold in a school canieen.

Which of the following could be the volume of the milo sold in the cup?

(1y 20mi
2 201
(3) 200mi .

4y 2001



Mrs Tan bought 18 apples, 10 oranges and 2 watermelons. What was
the ratio of the total number of apples and watermelons 1o the number
of oranges? ' '

(1) 5:9
(2) 5:14
3) 9:5
(4) 14:5

The figure is made up of two triangles, PQR and STU.

U

R
Which two lines in the figure are perpendicular 10 each other?

(1) PQand TS
(2) PRand RQ
(3) US and SR
(4y UTand 1S

: 2 4
What is the value of 3 %5 ?

O

@ 2

O]

3 1

oo i~

{4y 1



10

11

— o o~

Which decimal is greater than 0.07 but smaller than 0.157

(1) 0.4
(2) 09
(3) 0.0%
(4) 019

Find the value of 5‘9”“52‘9 when p = 8.
(1) 27
(2) 34
(3) 54
(4) 88

The table shows the number of points scored by different groups of
students in a quiz.

Y
N
W
Je

Number of poinis scored | 0O
Number of groups 2

oa
h
R

How many groups scored at least two poinis?

\...-/\../vv
b (D ] U1

1
2
3
(4

The table shows the hsight of different plants, W, X, Yand Z grown in
a o0 Over a monﬁ:

Planmt Height of plant at the Height of plant at.the
stari of the month, - [ end of the month
W MO com 127 om
X 118 om 131 cm
Y 118 om . 132 om
Z 118 om ; 128 cm

Which plant has the greatest increase in height?



12 Kamie is standing at K facing north.

A
4

C , :

 S—

Kamie tums through an angle of 135° inan aﬁii-siackwise direction,
followed by % -turn in the clockwise direction. Which point will Kamie

be facing?

(1 A
(2) B
3y ¢
(4) D

13 The usual price of a study lable was $300. During a sale, Mrs Kumar
bought 2 such study iables al a discount of 80%. How much was the
tolal discount?

(1) $120
(2) $180
(3) $240
(4) $360



14 Figure 1 is formed using four identical squares. The perimeter of Figure 1
is 80 cm. Another three identical squares were added to Figure 1 fo form
Figure 2.

Figure 1 Figure 2

Find the penmeier of Figure 2.

(1) 120 cm
(2) 128 cm
(3) 138 cm
4) 140 cm

15 Xavier planned o save $21 using his pocket money. The table below
shows his saving plan for his weekly pocket money from Monday o

Friday.
Day Amount saved
Monday 50¢ :
Tussday C 50 ¢
Wednsesday 80 ¢
Thursday g0 ¢
Friday { 80 ¢

Aavier slarted to save on g Friday, On which day of the week did Xavier
managed to save exaclly $217? ’

(1) Monday

(2) Tuesday

(3) Wednesday
(4) Thursday
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Write your answers in the spaces
give your answers in the units
' - {5 marks)

Questions 16 to 20 camy 1 mark each.
provided. For questons which require units,

siated.

16 Write two hundred and five thousand and three in numerals.

Ans:
17 Find the value of 60 — 20 = 2 + 4.
Ans:
. 2
18 Find the value of 3 x 18.
Ans.

/

e merrmsord



18

Find the value of 5 + 8. Express your answer as a decimal.

Ans:

20

Simplify 20r + 5r+ 7 —r.

Ans:




Questions 21 to 30 canry 2 marks sach. Show your workings clearly in the space
provided for each question and write your answers in the spaces provided. For

questions which require units, give your answers in the units stated.
v (20 marks)

21 Write an algebraic expression for the following.

(a) Subiract 15 from k.

Ans: {a) 1]

(b). Jane typed 45 words in n minuies Express the number of words she
© can type in 1 minute in terms of n.

Ans: {b) 1]

922  Fiveletters, T, E,A, M and S are drawn on a square gid.

T AR

ey, S
—— T TN
o A A0S WS W N IR NI
M\:{}AK —
AN T

{a) How many of the leiter{s) has / have a line of symmetry?

Ans: {a) B 1l

{b) Wvhich letter{s) has/ have both paraliel and perpendicular ines?

Ans: {b) [




23 The net drawn for the solid shown below is incorrect.

Solid Nat

{a} Name the solid.

Ans: (a) {1

(b) Shade a trianguilar face on the net that does not {it the net of the
solid. [1}

24 The table below shows the timing of the movie XYZ shown in a cinema.

Timing for movie XYZ

11.15 aum.
230 pm.
430 p.o.
715 p.m.
10.30 p.m.

{a} The duration of the movie is 2 h 10 mins. What time will the last
screening of the movie XYZ end? Express your answer using the 24-
hour clock. .

;‘%;s: {a) ]

{b) Wendy arrived al the cinema at 11.45 a.m. How long must she wail
for the next screening of movie XYZ? Give your answer in h and min.

Ans: {b) h min [1]

N




Use the information below to answer Questions 25 and 26.
The pie chart below shows the different ways a group of students go to school.
The number of students who travel to school by car and MRT are represented in

the bar graph.

Number of students

Car MRT

25  How many students walk 1o schooi?

Ans:

26  How many students fravel io school by bus?

Ans:

-\

r
i )
10 Zmﬂij



27 Machine A prints 10 pages more than Machine B every minute. Machine
C prinis half as fast as Machine A. The three machines print a iolal of 270
pages in 3 minules. At this rate, how many pages does Machine C print
in 1 minute?

Ans:

28  The figure ABCD is formed by two different squares and two identical

. s .
rectangles. The area of the small square is a the area of the big square.

A B

D F C

(a)} What fraction of EBCF is shaded?

Ans: {a) {1}

{b) What fraction of ABCD is shaded?

Ans: (b) 1]




29 A group of students had an average of $10. »Threé students with a sum of
$57 joined the group and the average armount of each student increased
by $3. How many students were there in the group at first?”

Ans:

30 in the figure, ABC and DEF are right-angled triangles. The base of triangie
DEF is twice as long as the base of triangle ABC. The height of triangle
DEF is also twice as long asthe height of triangle ABC. The difference in
the area between the 2 unshaded paris is 18 o,

8 D

A F

Each statement below is either true, false or not possible 1o tell from ihe
information given above. For each statement, put a tick {(/ ) to indicate
YOUr answer.

Statement : True | Faise | Notpossible
: . 1o tell

The ratioc of the lengih AF io ihe
length ABis1: 2.

The area of inangle DEF is twice the
area of iriangle ABC. ;

- The area of triangle EFD is 24 cm?.

END OF PAPER
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Questions 1 io 5 cary 2 marks each. Show your workings clearly in the space below
each question and write your answers in the spaces provided. For questions which
require units, give your answers in the units stated.

{10 marks)

1 {a) Write down ai} the common faciors of 4 and 6.

Ans: {3) {1

(b} Whatis the largest common muttiple of 4 and 6 that is smaller than
507 :

Ans: (b) : 1}

2 Mrs Devi had 2.5 m of ribbon at first. She used Som of i, .

{a) Find the length of ribbon she had left in metres.

Ans:{a) m 1]

{b} Mrs Devi then cut the remaining length of the ribbon into two egual -
pieces. Find the length of each piece of the ribbon in centimetres.

Ans: (o) cm [1]




3 In the circle below, O is the centre and AOB is a siraight line.

{a) Measure and write down the diameter of the circle.

Ans:{a) __cmil-

(b) Using your answer in {(a), find the circumference of the circle.

Leave your answer in terms of 7.

Ans: (b) cm [i]

4 The average of two different 3-digit numbers is 104. Write down one
possible set of values for the iwo numbers. :

AnsS:

)



Vinesh has a rectangular piece of paper. He folded it aiong the dotited
lines without overlapping as shown bslow.

Before folding

Find 2.

Ans:

After folding

62

L]

b bt




For Questions § 1o 17, show your workings clearly in the space below each question
and write your answers in the spaces provided. The number of marks available is

shown in brackets [ ] al the end of each question of part-question.
{45 marks)

8 kg. Parcel Bwas 1 2 kg heavier

B The total mass of three paicels was 13
lighter than Parcel A

than Parcel A while Parcel C was 1.2 kg

{a) How much neavier was Parcel B than Parcel C?

Ansi{a) 4 i

{p) Find the mass of Parcel A.

Ans:(b) 2]

e



lan drew a iriangle ABX in a square grid as shown below.
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8 In the figure, ABCD is a rhombus and AB = AE.

{a) Find £ZBAE.

Ansi{a) - 21

{p) Find ZADE.

Ansi(b) 2]




g Jill glued 12 cubes of side 1 om to form a solid as shown below.

Top view
e T
A
i <+—— Side view

s’ ”

| =

=

Front view

{a) On the square grid below, draw the op view of the solid. ]
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3 H i ;r 1 3 Y
______ EANSUEN RO SN DU

{b) Jill painied the whole solid, ncluding the base. How many cubs(s)
would have only two painted faces? o

Ans:{b) M

{c} What was the tolal painted area of the solid?

1

Ansi{c) 7]




1D

ABC is a triangle, BFCis a straight line and +DEF is a right angle.

A

81°

122°

oo

{a) Find £BEF.

Ans:Ha) __ {23

{b) Circlethe words that describe AED and CDEF correc
stalemenis:

AED{ 53 ] is not ) an isosceles triangle and AD is equallo{ AE ] ED).

CDEF{ is { isnol } 323 trapezium and ED

ty in the following

{ is { isnot ) parailel to FC.

2




11

At first; 80% of a tank was filled with water. Chyis turned on Tap A 1o allow
‘water to flow out of the tank. 4 minutes later, Chris tumed on Tap B to aliow
waier io flow into the lank. After a while, both taps were then tumed off at
the same time.

The graph below shows the amount of water in the tank over 12 minutes.

%Tapfs

40 —+
. 30
: Voilume _
in
/ littes 20 ,
: T ;
§ 10 o R ,
il Tap A 4 E ,
A D T
L oo 0 7 i i ¥ i 1
i) 2 4 8 8 10 12

Time in minules

{2} Find the capacily of the tank in litres.

Ar}s:(a} | 1}

{b) How much water flowed out of the tank from tap A in 1 minute?

Ans:{b) 1]

{c) How much water flowed into the tank from tap B in 7 minute?

Ans:{c) [2]

[€s




42 Sam hada bag of red, blue and green marbles. The ratio of the number of
red marbles to the number of blue marbles was 2 : 1. The ratio of the
number of blue marbles 1o the number of green marbles was 5 : 3.

{a) What fraction of Sam’s marbles was green?

Ans:{3) . m |

{b) Sam removed 4 red marbles and 3 biue marbles from the bag each
fime. After a few rounds, there were 1 8 red marbles and 1 blue marble
in the bag. How many red marbles were there in the bag at first?

Ans:{b) 2]

10




13

Janice sold 80 cakes in January. in February, she sold 30 more such cakes
than in January.

{a)

What was the percentage increase in the number of the cakes sold
from January to Febnuary?

Ans:{a)

1
The number of cakes she sold in March was a 100% increase from
what she sold in February. How many cakes were sold in March?

(b)

Ans:(b) _ [
The number of cakes sold in Apnil was a 40% decrease from what she
sold in January. The lolal number of cakes she sold in April and May

was 200 when rounded off 10 the nearest hundred. What was the
greatest possible number of cakes she sold in May?

{c)

Ansi{c) 2]




14

A market and a stadium are 240 m apart. They are located between Paul's
and Rani’s houses as shown pelow. The market is exaclly haliFway in
petween the two houses.

Paul's Rant's
house Markdl Stadium house
B e —3
B
240 m

Gne morning, Paul and Rani started cycling from their houses at the same

“fime and they aived al the stadium together. Rani cycled at 100 m /min

while Paul cycled at a speed 15 m/min faster than Rani.

{a) How much further did Paul cycle than Rani?

Ans{a) 1]

{b) Howfarwas Rani’s house from the stadium?

Ans:{b) i3]

12




15

Shermaine used reciangular blocks to form figures thal follow a patlern as
shown below. The length of each block is 2 cm and iis breadth is 1 cm.

n}d o

Figure1 Figure2  Figure3 Figure 4 Figure 5 Figure 6

{a) The table shows the number of rectangular blocks used for each
figure. Complete the table for Figure 7.

Figure Number %éunﬁber of rectangular | Height of Figure
blocks used {h)

1 4 4 cm

2 7 7cm

3 13 7cm

4 16 v 10 cm L
5. 18 13 om

8 23 13 cm

7 cm

1

(b) How many reciangular blocks were used in Figure 1237

Ansi{b) 2]

bt

13




18  Leon designed a logo as shown. The logo is made up of two identical small
semi-circles, a circle and a big quadrant. YZ is the diameter of the circle and
O is the centre of the circle. X is the centre of the big quadrant and XY = XZ.
The radius of the small semi-circle is 7 cm.

22
(Takem =~ )

{(a) Find the length ol YZ.

Ans:{a) el

{b) Find ihe area of triangle XYZ.

Ans:{b) {1

{c) Findthe iotal area of the shaded parts of Leon’s logo.

Ans:{s) 3]

14 A



17

In a bakery, donuts and cupcakes are sold only in boxes. A box of 8 donuis
cosis $15 and a box of 5 cupcakes cosis $7. Alice and Ben were given a
sum of money to buy donuts and cupcakes from the bakery.

D@ |
©es v

1 box of 8 donuts 1 box of 5 cupcakes
$15 $7

Alice needed 20 donuis and 3 cupcakes for her parly. After buying the
donuts and cupcakes from the bakery, Alice passed the rest of the money
to Ben.

(a) What was the least amount of money Alice spend?

Ans:{a) I1]

Ben spent :?" of the rest of the money 1o buy donuts and cupcakes for his

party and had % of the sum of money left.

(b) What fraction of the sum of money did Alice spend?

Ans:{b) 1]

{c) How many donuts and cupcakes did Ben buy?

Ans:{c) Donuts: ,

Cupcakes: 31

END OF PAPER
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Subjet : Mathematics
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Booklet A
1. 2 2. 1 3. 2 4, 3 |s. 3
6. 4 a2 g (3 0] e~ 1 9, 2 10. 4
11 |y | AU/~ 2 14, 2 15. 4
g - ey
BRSBTS
&) 705003 \1S<;J<—60~10+4
- . = 50 +4
_| =54
7’ 2,18 12 19.\ = 0.625
3 1 1 A
=12 ()
{20r+5r+7- r) 21. \a “15)
={25r+7-r) b2
={24r+7) . N
ay4 23. ,ag%amid
b) Eand M ?\)
VAN
\ pava
0 | \2%) [220x5=1100
@MS ‘ . \/ 1100 + 2 = 550
\sss@zzﬁ 00 = ’C ) 27. [270-(10x3)-(5x%3)
#%@ \/ =240 -15
=225
2+2+1=5
5%3=15
15+5=20
28. ajAreaof A=-x2x1=1u 29. 10x3=30
2x1 . 27—3:9
- =1 9-3=6
3x1=3
Am~—1-
b 2x1 =1
?2‘2».2
3%3 9




Answer

30.
e M o
Paper 2
1 a)1,2 2 a) 2.42
b) 48 9 8 5 _ b) 2.42m = 242cm
. Q@(y /Q 242cm = 2 =121em
AN (D
Y /b),cr{ 4= jtotal) = 104 x 2 = 208
@ } 7 x4.5 = (4.5 ) NI sible - 1st=100
S ﬁ 2nd = 208-100 |
_ =108
Aps(i‘ﬁ)o 108 ,
2x = 180-28-90=62 6. a) Zke + 1.2kg = 2.4kg
x= ) @Q‘ 3.8kg-(1.2kg x 3)
=310

=240.2kg +3 = 3.4kg
= tu+1.2kg ‘
3.4k 1.2kg = 4.6kg

BT =1800 - 800=1000
=1000 - 290=7 10

9
/\ggﬁ:lsoo - 710 -710
Q;EAD = 800 - 380 =420

<ADE = 1800420 _ oo

b) 2
¢} 4zx1=42cm?*

a) <ACF = 1800 - 610 - 58¢
=610
<ADE = 1800-1220 =580 |
<AED = 1800-610-58¢
. =610
<BEF = 1800-610-90¢
=290
b)AED is an isosceles
riangle and AD is equal
to ED.
CDEF is not a trapezium
and ED is not parallel to
FC.




Answer

a) =x100=43.79¢
b} 35-20 =15
15 +4=3.75¢
€)3.75x4=15
15-10=5
5+-4=125¢

1zZ.

D
Q

a) Total=10u+5u+3u=18u
3 .

3 8 W Fx

3 0 X
34 :Bg:

i
&1

G432 R
281,

PR
+» HE 3

a) ggxloo = 37.5%
b) Feb = 80 +30 =110

110 200
March = EBEXT—-ZZO

) 100 -40 =60
1280 ,60_
Apnl-mox " =48
(biggest) 201 + 48 = 249
Ans: 201 ' '

3) 240+240=480m

a) '
Figure No no of rec {h)
blk used
7 26 - 16cm
b)123+3=41

16.

§x28x28 =616
1 22

=11x2x14 =308
308-154=154
616 - 154 = 462cm?

a) 20+-8=2R4
7+15x3 =552
13 2

i}} 3= 5A§’§S : 5

¢} Donuts: 6 x8=438
Cupcakes:2x5=10







